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Q.No: 1 Which of the following dance forms does not belong to Rajasthan?

A Chari

B Chakri

C Jat-Jatin
D Ghoomar

Q.No: 2 Who among the following rulers was the founder of Pala dynasty?

A Gopal

B Dharampal
C Rampal

D Devpal

Q.No: 3 The famous dance form ‘Yakshagana’ is related to which of the following states?
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A Karnataka

B Tamil Nadu

C Uttar Pradesh

D Kerala

Q.No: 4 Western Ghats is 1600m long mountain range that runs from____ to
A Bhopal to Gujarat

B Maharashtra to Gujarat

C Madhya Pradesh to Andhra Pradesh

D Gujarat to Kanyakumari

ofirfi Ore 1600 MR TR uda e ¥ G To 3
HiTe | ToRTd

HERTY & ToRT

T TR W S WS

TR & TGN

IT UYWL | AR oo B O g 81 3 G ST o} Ae) P W1 A

Q.No: 5 The military reforms of Alauddin khilji does not include

A Alauddin started the Jagir system to pay the soldiers.
B He introduced the system of ‘Chehra’.

C He imported quality horses and branded them ‘Dagh’.
D

He was the first ruler of Delhi to have a permanent standing army.

Q.No: 6 Merchant Discount Rate is

The discount rate in GST given by government for the use of debit or credit

A cards
B The discount given by merchant on using debit or credit card.
c The rate levied on debit and credit card transactions to a merchant for the

payment processing services.

D The tax relief given by government to small mercahnts.
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Which of the following is a classical solo dance form of Kerela?
Bihu

Chhau

Sattriya

Mohiniyattam

make the rivers navigable
for ocean going ships, clear

sediments, retard formation of delta

and are a source of producing

electricity.

Waves e
Trench Eli
Tides SAR-HTCT
Wind gar

Who is the author of the book The India Way: Strategies for an Uncertain World?
Anupam Kher

Piyush Goel

S. Jaishankar

Anant Vijay

Consider the following statements about Qutub Minar and choose the false one.

It has five storeys, tapering as they ascent and separated from each other
by projected balconies.

The height of the structure is 72.5 metres.
The entrance to the tower is through the doorway on the Southern side

It was completed by Iltutmish.

Krishna river does not pass through which of the following states?
Andhra Pradesh

Karnataka

Kerala

Maharashtra

Who led the troops of the British East India Company in the battle of Plassey?
Warren Hastings

Hector Munro

Robert Clive

Lord Hastings

Which of the following dance of Assam is also known as ‘Butterfly Dance’?
Sattriya

Bihu

Bagurumba

Deodhani

Small Finance Banks does not provide loan to
Large Business Houses
Micro and Small Industries

Unorganised sector enteties
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Which of the following freedom fighters had a loyal horse named 'Chetak'?
Maharana Pratap

V.0. Chidambaram Pillai

Prafulla Chaki

Rani Laxmibai

Who is the present leader of the House Rajya Sabha?
Varun Gandhi

Smriti Irani

Piyush Goyal

Amit Shah

Who provides a banking license for setting up banks?
Reserve Bank of India

State Bank of India

President of India

Finance Ministry

Which of the following is not the work of Reserve Bank of India (RBI)?
It is Banker to the Government

It makes the fiscal policy of India

It issues bank notes

It is the custodian of the Cash Reserve

Who was regarded as the only President to serve two full
terms and he stayed in office for the longest term of around
12 years?

Zakir Hussain Wﬁﬂ'?\ﬁq

Lal Bahadur Shastri TS TETg Xt
Dr. Rajendra Prasad 3T IS TG
Abdul Kalam 3fogel DM

Laxmi Narayan Shastri is associated with which dance form?
Kuchipudi

Kathakali

Kathak

Bharatnatyam

Which one of the following does not possess true roots, stems and leaves?
gymnosperm

Bryophyta

pteridophyte

thallophyte
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What type of energy changes is associated when the ice melts?
Endothermic

Exothermic
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Physical change MR uftadq
Chemical change ITaAE uRada

Direction: The following question consists of two statements one labeled

as * Assertion” and the other as "Reason”. You have to examine these two f¥a=1: FaftfEad vy & €1 Fu= § B I w@ &) "siftE " 3R g &1 "SR & FUH e fova T §
statements carefully and select the correct answer to the question from  3MTU®! 37 G ST B TauFIgdS S Ht § 9K T T e & & vy &1 wgt S T 71

the given options.

SHfBY: (T) TR, URY R SaaR R & Iargu B

PR (R) 3% UM 9 19 81 B

Assertion: (A) Fir, pines and cedar are examples of gymnosperms.

Reason: (R) they possess naked seeds.

(R) is the correct reason behind the assertion (A). R, A T WEl e B
only (A) is true Haqa (WEiR g
Both (A) and (R) are correct. A (T) ok (o) | &
only (R) is true Fq (3R) T2
Which metal is used for making foils used in packing of food materials? arey el A B vged usht e & R 5 g o1 Ium faar S 27
Copper GIE
Germanium sy
Silver it
Aluminium SregHifam
is the simplest hydrocarbon, WE’E@W H|
Peat bicd
Ethane s”a'-l
Propane o
Benzene ol

Antibiotics are used against various bacterial diseases. Which one is incorrect in the iR FT ST R e I F R o ST & 1 PR A @ 1 T

following diseases?

Typhoid HreligRT
Tuberculosis &
Asthma SRYAT
Bacterial infection Sitaryy HHaor

Geeta observed some features of the animal possessing dry skin with scales that  7itdT ¥ @ @, /e Y % g
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mammals TR

reptiles Hﬂ'\"ﬂ

molluscs T

arthropods smifugE
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\t?ler;llscig::t;i :!?t\zgg is a branch of Science which deals with studying the ProRifad § ¥ 3 e 3 98 T 2 o et ¥ T9eR 3T s et 32
Physics it s

Psychology wHIfaEE
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Chemistry A ARA

Which of the following name of scientist is expressed as a unit of nuclear size? Fofafed & 3 IS B S Q1 A WA R S S5 & &0 § Jad 641 S 32
Fermi ot
Edison &
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Tesla

Newton

Which one is incorrect about the types of the protected area which have been
earmarked for the conservation of forest and wildlife?

Natural park
National park
Wildlife sanctuaries
#0pt

Biosphere reserves

Which of the following does not belong to the class fungi of phylum Thallophyte?
yeast, spirogyra and lichens

yeast, algae and bacteria

morels, truffles and lichens

morels, lichens and laminaria

Which amongst the following is not the HYV seed that was used during the green
revolution, and was prepared by the scientists of ICAR?

Sonalika 308
Sona 227
Kalyan sona

Satluj seeds

In which zone of the biosphere reserve, people are living and conducting their
daily activities?

Transition Zone
Buffer zone
Core zone

Middle zone

is used in treatments such as pneumonia, bronchitis etc.
Penicillin
Chloramphenicol
Sulphaguanidine

Streptomycin

Which of the following statements is false of grafted mango trees?
Has a lesser life span.

Has less disease resistance.

Yields in a short span of time.

Requires more nurturing.

Given guestion has main statement followed by four statements. Choose the
ordered pair of statements, where the first statement implies the second, and the
two statements are logically consistent with the main statement.

The theme of the party will be either retro or futuristic
A. The theme of the party was retro

B. The theme of the party was not retro

C. The theme of the party was futuristic

D. The theme of the party was not futuristic
CA
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BD
DA
AB

Choose the correct mirror image of this combination- ABCDE.

d3d08A
3do8A
83dd5A

A3do4

In the following question, a series of letters is given. Some letters have been
removed in these series, and they are in the options given below the series in the
same order as they should be. Study the given series carefully out of

the four alternatives given below, and find the one that best fits in place of the
missing letter of the series.

ab__baabc__aabcb__abcb__
abca
baca
bcaa

cbaa

Naren has a sister. Mohini is the daughter of Naren’s sister. How Mohini is related to
Naren?

Niece
Brother
Daughter

Nephew

Choose the correct mirror image of this combination- AS991U.
2Aeeul
UleeAe
AZeelU
UleeeA

Choose the correct mirror image of this combination- JKHIFZ278WQ.
OV7eTESTLZIHL
OWaTEXTUHUA
OWatSSTHLAL

OW/ETCSTUHAL

'A @ B' means 'A is the father of B'.

‘A * B' means 'A is the brother of B'

'A $ B' means 'A is the sister of B'.

If Q*Z*M @ K$T @ U*N, then which of the following statements is NOT correct?
M is T's father

U is the paternal grandson of M

Q is the paternal uncle of T

K is the mother of N

BD
DA
AB

39 e 31 98l o1 B gH- ABCDE
a3idgA

3d08A
83d5A

A3Qo49
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ab__baabc__aabcb__abcb__

abca
baca
bcaa

cbaa
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Select the option that is related to the third word in the same way as the second
pair is related to the first pair.

WhatsApp : Chat :: YouTube : ?
Call

Payment

Message

Videos

Select the letter-cluster that can replace the question mark (?) in the following
series.

BM, CL, EK, HJ, ?
LI

MO

MD

NF

I Ay o 909 B¢ ol TR Teg & I TR Faifld § O g1 T Uedt I Weifda g
Ry :%z::w: ?

93
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W
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BM, CL, EK, HJ, ?

LI
MO
MD
NF

I UY W Ud § Uiy ool PSP B S G SATART <ol TEY By o gt

Select the Lettered pair that has the same relationship as given in the question:
Sea : Shore

Road : Footpath

Ocean : Bay

Train : Rails

River : Delta

A’s mother is the only daughter of B. She is also the sister of D. C is the daughter of

D.

How is A related to C?
Brother

Cousin

Father

Mother

Pointing towards Mukesh, Seema said, "He is the only grandchild of my father".
How is she (Seema) related to Mukesh?

Aunt or Mother
Brother
Grandmother

Father

Given question has main statement followed by four statements. Choose the
ordered pair of statements, where the first statement implies the second, and the
two statements are logically consistent with the main statement.

The technology is either constructive or destructive
A. The technology is constructive

B. The technology is not constructive

C. The technology is destructive

D. The technology is not destructive
AB
DA
AC
BD
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Choose the correct mirror image of this combination- NU71MB.

nurimMe
amIsun
mavInu
unyLam

Given question has main statement followed by four statements. Choose the
ordered pair of statements, where the first statement implies the second, and the
two statements are logically consistent with the main statement.

The party should be organized either on terrace or on lawn
A. The party was organized on terrace

B. The party was not organized on terrace

C. The party was organized on lawn

D. The party was not organized on lawn
AB
BD
cb
DA

39 Ao 31 981 U0 B - NU71MB
nurtMme

amITun
MaxInu
unsram

12U U vy F T B 9IRS S TR DY §1 BYHT P 1A TH T, STe Ugel HUT BT
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C. Ui 31 oo @ # fopar man o1

D. el &1 Siriiea @ # g fosam man

AB

BD

cD

DA

Select the option that is related to the third word in the same way as the second pair I R &1 T o o dRR Tee Q@ ol o 2 SRy o Oed g A ¥ i 31

is related to the first pair.
Cricket : Bat :: Badminton : ?
Pad

Racket

Shuttlecock

Select the Lettered pair that has the same relationship as given in the question:
Low : Cattle

Sheep : Beef

Grunt : Hogs

Flocks : Goat

Gaggle : Chicken

Anita is sister of Veer. Veer is brother of Dheer. Dheer is sister of Mihir. How is Mihir
related to Dheer?

Sister
Data inadequate
Brother or Sister

Brother

Select minor image of the given figure when the mirror is placed to the right of
the figure.
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In the following question, a series of letters is given. Some letters have been
removed in these series, and they are in the options given below the series in the
same order as they should be. Study the given series carefully out of

the four alternatives given below, and find the one that best fits in place of the
missing letter of the series.

__accb__ccb__
baba
aaab
acab

baab

Jay scored 175 marks in a test and failed by 35 marks. If the passing percentage of
the test is 35 per cent, what are the maximum marks of the test?

750
600
700
650

In a class of 50 students, 40% are girls. Find the ratio of number of girls and
number of boys in the class.

2:3
3:4
4:5
2:5

If Gold cost Rs. 50,000 was sold by Renu for Rs. 52,000. What was the profit
percent?

7%
5%
4%

6%

A shopkeeper buys an article for Rs. 360. He wants to make a gain of 25% on it
after a discount of 10%. The marked price is:

450
460
500
486

What would be the compound interest obtained (in Rs.) on the sum of Rs. 12500
at the rate of 12% per annum compounded annually after 2 years?

6250
2250
3180
1380

T<=

=t

ol uy & el Bt ue ya & T ¥ 37 saael ¥ $o R g R mu ¥, ok 9§ g
& 19 Ay g fapdt # I A # ¥ 9 9% S =nfe ) i fAu Mg AR faeedt # 9 A g
AT F HAYIF AT HY IR §TN F T &R F RIF R 98 ey It o o
I

cc

__accb__cchb

baba
aaab
acab

baab

T 7 T WeT 175 Si U BT 3R 35 3T § srawe €1 T afg wien &1 it ufawm
35 U= ®, o TRie % Siftinan sid o 87

750
600
700
650

50 BET B UF Tl F, 40% TSHal §1 F&T T TSl B T 3R TSH! B1 IS BT S
I Bif

2:3
3:4
4:5

2:5

Ifg 50,000 F9Y & TR HI XY §RT 52,000 TG 7 &1 7411 1 Yf=IT 7 412

7%
5%
4%

6%

TP GPMGR TS a%g $I 360 TUA H WEdT 81 I8 10% P Fe 4 F 918 S | 25% BT aOY
WIS BT =gl 81 Sifdbet Hed &:

450
460
500
486

12500 T Y AR R 2 7§ 1€ 12% Ufaay ) R I T6gfS sa (3. F) fovean g 2

6250
2250
3180
1380
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Q.No: 68 A sum of money is paid back in two annual

A shop owner purchase some cloths for Rs.5555 and spent Rs.445 on overhauling
and then he sold it at Rs.12000. What percentage of profit did he make?

150%
50%
100%

200%

The average of 4 numbers are 20 and the 1st number is one -third of the sum of
remaining numbers. What will be the first number?

25
20
15
10

The price of a share is Rs 400. On the first day its value increases by 10%, on the
second day it decreases by 20% and on the third day it again increases by 10%.
What is the percentage increase or decrease in the price of share?

Increase of 4 %
Increase of 3.2 %
Decrease of 3.2 %

Decrease of 4 %

TP GBI Bl Wil PO HUS 5555 T4 § Tedl € R IReTd
W 445 T8 T Ham € @R R ¥ 12000 T & 59 a1 31 9 v vforera @ wamam?

150%
50%
100%

200%

4 TEmeit BT 3iRIT 20 7 SR Ugel We, [ Aeeh & 4R &7 U fags 31 sl I
guf?

25
20
15
10

TP IR B PG 400 TUT ¥ U547 o7 393 PG 10% §¢ Sl B, TR 7 98 20% T
He St ¥ R IR R 98 R @ 10% 9¢ o1t 31 IR 9t wind § yfawd 3 an frige @
8

4 % P gfa

3.2 % 3 g
3.2 % ! firmac
4 o% Tt firmae

I WY IR g A Smuty g S gt §1 o G SmafRy gof Tt B q

One Bakery has to make 810 cakes and another one 900 cakes during the same
period of time. In the first bakery, the order was ready 3 days in advance, whereas
in the second bakery, 6 days in advance. How many cakes did each bakery make a
day if the second bakery made 21 cakes more a day than the first?

04 and 25
54 and 75
27 and 48
45 and 66

What will be the compound interest on Rs.7700 in two years when rate of interest
is 3% per annum?

Rs.67.23

Rs.468.93
Rs.412.08
Rs.576.36

If the cost price is double of the selling price, then what would be the percentage
of loss or profit?

100% loss
100% profit
50% profit

50% loss

Find the least number of complete year in which a sum of money put out at
20% Compound interest, will be more than double.

4yr 4 qf
3yr 3af
5yr 5 qd
8yr g af

o IR <t 7 A I B

instalments of Rs.22,050 each, allowing 5%

TF B8 BT T & 3G & GRH 810 HF AR T R T 900 Fb FH &1 Ugelt Jdt

T, 3SR 3 fe7 ugd qUR o1, Fafds godt 6 & 6 e Ugdl UR AT | UAF I A U e F
e FF T¢I ot S8 A Tgelt &1 gar ¥ 0 A 1 21 F ¥ T

04 3R 25

54 3R 75

27 3k 48

45 3R 66

31 auf & 7700 YT W IhqlS TS F1 SN o1 SIS &R 3% Wiaay 82

Rs.67.23

Rs.468.93
Rs.412.08
Rs.576.36

IS 550 g fassd I &1 IR © o g1 a1 Ay &1 wfa=ma a1 gme
100% B

100% @Y
50% @Y
50% g1

T I8 P a8 AW WS I Y, R 20% & THgls AE R B AR ST O o 3ifles g1 s

UA® a9 22,050 T4 B €l A fopvelt H T 4RI T YT BT ST @, o R Uiay 5% &1 ahdfs s aiffes w9 o firerr @
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Q.No: 69

Q.No: 70

o 0O w F

Q.No: 71

o 0 . >

Q.No: 72

O 0O @ >

Q.No: 73

o 60 o >

interest per annum compounded annually. The
sum borrowed was:

Rs. 40000
Rs. 42000
Rs. 43000

Rs. 41000

40000 U
42000 3T
43000 ¥UT
41000 7

What will come in place of question mark (?) in the following expression? rreIToTId ctioTeh & 9ReT RigeT (?) 3 TTeT 9 AT HITA?

85 , 18 . 125
99 34 " 121

“le

Amman bought a book from Flipkart at Rs
500 and Flipkart additionally charged Rs 25
for Packaging and Rs 50 for delivery. For how
much Amman should sell this book to get

profit of 16%?
729
667
532
976

85 18 125
R et ik

: ?
99 " 34 " 121

Qe

I
wilds

5}

i

23

S 3 fFageTd | 500 393 A U frae @it 3R fGauaré 7 3R & fRiw 25 T iR fEehadt & forg 50 T o7 sifafved o fomm
16% 1 AIH U B & [T 3 Pl 380 Y& & fba H o1 =fgw?

729
667
532
976

In a code language, COMPUTER is written as IVGFKNLX. How will TELEPHONE be it g 11T , COMPUTER &1 IVGFKNLX forar i &1

written in that language?

VMLSKUOVG
VMLSKVOVG
GVOVKSLMV
VMNSKVOVG

Il g Wi & TELEPHONE ! 1 feren siam?
VMLSKUOVG
VMLSKVOVG
GVOVKSLMV
VMNSKVOVG

In a row, Shreya is 19% from left end and 11% from right end. Then find the total number of students in e ufda # a1 9% SR I 196 IR AF IR 1147 §

the given row?

23
21
26
29

Find the missing term.

(75}

o

39
40
32
20

@ i T dfdk # faenRiat 9 ga g wa i

23
21
26
29
YW U< FI it
5 6
4 {22)3 7(2 )2
2 3
39
40
32
20



Q.No: 74

o o w >

Q.No: 75

o 0 @ r

Q.No: 76

o 0O ®m r

Q.No: 77

o 0O @ r

Q.No: 78

Shalu position is 10th from right and 12th from left in a line. Find the total number
of student.

22
23
21
20

Find the missing term.

1 6 3 5 7 6
I |
GLO ?
| [
7 2 5 57 3 3
EWV
FSE
YUD
YUX

Sandeep is 8 ranks ahead of kapil in a class of 40 students. If Kapil is 10th from
the last, then what is Sandeep rank from the start?

20
23
18
30

In the question below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance
with commonly known facts and then decide which of the given conclusion logically
follow(s) from the given statements.

Statements:

Some short are tall.

All tall are radius.

All circles are tall.

Conclusions:

L. All circle are radius.

I1. No radius is short.

Neither conclusion I nor II follows
Only conclusion II follows

Either conclusion I or II follows

Only conclusion I follows

Find the missing term.

U dfet & e T WM g SR A 1097 3R 1 3R A 1241 1 DE Y pot U 91 BT

22
23
21
20

GLO 2

9 —
L) —f

EwWvV
FSE
YUD
YUX

HeIg 40 BHI B T HeM T Hioa I 8 ¥& ol Bl
I BT 3T F 103 RIF R &, O URY ¥ G 37 I RIF 71 32

20
23
18
30

4 Ru vy F, 79 Fyl F 98 $o ey R{u T §1 sl Y U HyET 3 9 A E,
o g 3 Ie: I aadt § e i 8 ofR R fofa o {5 faw e freedt f 9 o @ faw o
T BT MDD T F IR Bl 5

DY

PO DI, T B

il 9, B

vt 39, 99 8

fremd:

1 Wit ga, B g

11. &7 +ft B, B e 81

FA PP IR 1T SR FIAT §
Fae Frepd I a0 o3 §

A PreEf I ar 11 SRy PR §
Faa e 1 SRTERT Her §

W IS 919 il




Q.No: 79

o 0O w F

Q.No: 80

o 0O w

.No: 81

o

O 0O o >

Q.No: 82

o 0O w >

Q.No: 83

o 0O W >

Q.No: 84

O 0 @ >

Which of the following will come in the place of question mark?
beced - ced - ced - ced

babc

bbb

bbba

baab

If DIG = 41 and GOAD = 55, then FACT =
53
63
45
61

In a certain code Language, 'DEAR' is written as '7465' and 'LIFE’' is written as
'8394". How will 'IDEAL’ be written in the same code language?

37634
73648
34673
37468

In the question given below, some statements are given followed by

few conclusions. You have to consider the statements to be true even they seem to
be at variance from commonly known facts. You have to decide which of the given
conclusions, if any follow from the given statements.

Statements:

Some cups are bolts.
All bolts are balls.
Conclusions:

I. Some balls are cups.

I1. Some balls are bolts.

only conclusions II follows
only conclusion I follows

either conclusion I or II follows

both conclusion I and II follow

In a row, A is 13% from left and B is 14 from right. When the interchange their position respectively.
Then A becomes 20% from left. Then what will be B’s position from right after interchanging.

20th
21st
23rd
22nd

Which of the following will come in the place of question mark?

Pq_s_pqr_ _grp_
rtspq
sqprs
parsp
rpgst

Fofifed # ¥ w1 vvare i & =M | e 2
bced - ced - ced - ced

babc

bbb

bbba

baab

& DIG = 41 3R GOAD = 55 T FACT = .
53
63
45

61

it e T §, 'DEAR' &1 '7465' &Y 7 forar T ¥ $R 'LIFE' % '8394' ¥ # forar T ¥,
'IDEAL 1 33t e M1 & Y forar smgm?

37634
73648
34673
37468

e feu Uy ¥, T B IR IS 16 $o (epy T T B | 1B FU Y Td AR,
A & § A 9 ql ¥ i welia €1 €11 mae U a9 He § 16 R u freewsl # § o
1, afe 1§, fou T BT BT SR B 8l

FYE:

FE FY I 2
it diee 12 2
frer:

I $% 1 $U I
1I. $9 1% dic &

Fae Freed 11 s oRar 8
Fad sy 1 SgERo Hea
7 1 Frspd 1 41 11 SrEReT S §
forepd 1 o 11 ST SrgERT BRa §

T dfed H A 91 BR ¥ 1371 § 3R B 3¢ F 1431 Bl
S § B AT R TEd & 79 A I F 2047 &
ST 1 @ ST ¥ WM seeH & 9% g 9 B @ Rufd
1 gnire

204t
214t
23
224t

frofiiad & 9 o1 yaras g & M TR S1e ?

Pg_s_pqr_ _qrp_
rtspq
sqprs
parsp
rpqgst



Q.No: 85
A

B
C
D

Q.No: 86

Q.No: 87

o 0o @ >

Q.No: 88

o 0 w »

Q.No: 89
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Q.No: 90

o 0 w >

Q.No: 91

In a certain code 'HENRY' is written as “Jgpta”, how will COUNTRY be coded?
Eqwputa

None of these

Eqwvpte

Eqwpvta

Find the smallest fraction of the following fractions?

5

6

54

71

29

41

13

15

Find the smallest number which when divided by 27, 35 and 42 leaves the
remainder 10, 18 and 25, respectively. Find the sum of the digits of the required
number.

17
18
19

21

If 289 = 17¥/5%, then x = ?

1/10
8
2/5
16

Simplify:
80.4 X 41.6 X 21.6 =7

52
76
64
ag

A man is 3 years older than his wife and four times as old as his son. If the
son becomes 15 years old after 3 years, what is the present age of the wife?

45 years
48 years
51 years
60 years

I7d WY TR gd A 3mafRy ool o1 g §1 3 T Saf g Al B

Find the length of the side and the perimeter of a square plot if its area is 400
square metres.

151/3 and 60 metres
20 and 80 metres

15 and 80 metres

25 and 55 metres

foreht fAfda e & "HENRY' @1 “Igpta” forar v €, & COUNTRY 5 YaR fea fosan s
Eqwputa

T & g T

Eqwvpte

Eqwpvta

FafaRed el § 3 99 B i 1 Sife-

o |t

95 Ted B FB T 7%, O 27, 35 IR 42 F Ry 9 | Jwwd
H: 10, 18 3R 25 S| 3nfiy Wom & sicbl &1 N7 1l HIfoTL?

17

18

19

21

afe 289 = 1745, ¥ x = 2

1/10
8
2/5
16

wellpd

80.4 X 41.6 X 21.6 =7?

52
76
64
a8

T S SRt Uell A 3 af F9T B 9K SR W/ IR T w97 B, A ¥er 3 af e 15 9 @
B I B, Tl &) SAE oy T 82

45 af
48 af
51 af
60 Y

T HHM
TF THR We BT Yol $ 7ars iR aRwm J1a Fr, ot et dawa 400 T+ Hex 71
15+/3 5T 60 #EX

20 3% 80 Hiex
15 3k 80 #Hiex
25 3fiX 55 Hiex



Q.No: 92
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Q.No: 93

o 0 o >

Q.No: 94

o 0O w

Q.No: 95

o o w

Q.No: 96

o 0 m »

Q.No: 97

O 0O @

Q.No: 98

o 0O w >

Q.No: 99

Find the breadth of a rectangular plot of land, if it area is 880 sq.m and the length is ’;@[ F TP AAHR WIE B A1eT3 I BIoTY, JiE TUHT &% 880 a7 Hier § 3R

44 m?
22
15
25
20

There are 3 prime numbers, the product of 1st two numbers is 1891 and the
product of last two numbers is 7991. Find all the numbers?

31, 59, 131
31,41, 71
13,97, 123

31,61, 131

Which among following is divisible by 55?
93550

133155

62550

63550

LCM of two numbers is 120 & HCF is 15 and one number is 45. Find other number.
10

5

40

30

TS 44 Hiex ¥?
22
15
25
20

A srvTsT el #, wum <) Gemell &7 qUHTha 1891 3R 3ifaw & Temsh o
UGS 7991 g1 Tt TEATE I Piferg?

31, 59, 131
31,41, 71
13, 97, 123

31,61, 131

frofafea & 4 &9 55 9 favrsg &2
93550
133155
62550
63550

4 el H1 9.9, 120 SR 7.9, 15 § 3R U@ IO 45 31 A TR T 710 Hiforel
10

5

40

30

I WY IR qd § Srmufay oof I S g Bl o T MUy ot e B o wat

Ajay and Vijay have some marbles with them. Ajay told Vijay "“if you give me x
marbles, both of us will have equal number of marbles”. Vijay then told Ajay “if you
give me twice as many marbles, I will have 30 more marbles than you would”. Find
X.

8
6
5
4

Which of the following is divisible by 13?
35678
43267
98565

392613

What value would come in place of the question mark (?) in the following equation?
1311 + 1.9 + 8525 + 625 = ?

684.64

703.64

603.64

584.46

Which of the following is divisible by 18?
81074

SforT SR for & U $% S §1 o A o A Fe, "ol U A x A, AW A F
IR M 8T H &9 g | 79 Ieg A ooy 9 e, "afe ey g3 N $9 &, O R U™
fTge! Jerm A 30 & 5 B x T BT

U

Frofafed # 3 $7 13 IR &2
35678
43267
98565

392613

e adiewer & yyarEs e (2)  ®IF W 94 79 S
1311 + 1.9 + 8525 + 625 = ?

684.64

703.64

603.64

584.46

e & 3 o1 18 § favrsa 82
81074
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50187 50187
D 35892 35892
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The age of a father is equal to the sum of the ages of his 5 children. After 15 years, 5 H .
Q.No: 100 sum of the ages of the children will be twice the age of the father. The age of father g@ﬁg;ﬂ% Wﬁ%’[ﬁmﬁﬁﬁggg%g SR %] 15 a'sfarrz, Tl Bl Y &1

is:

A 39 year 39 94
B 45 year 45 9¢
C 42 year 42 9§
D 40 year 40 9§



